
 

 

 

 

 

   6 + 4 = 10            60 + 40 =100            600 + 400 = 1000 

 

3  +      = 10           30 +       = 100           300 +         = 1000 

 

      + 6 = 10                + 60 = 100                   + 600 = 1000 

 

2 +       = 10            20 +      = 100           200 +        = 1000 

 

    +  5  = 10                 + 50 = 100                   + 500 = 1000 

 

6  +     =  8              60 +       = 80             600 +          = 800 

 

    +       =                     +       =                           +          =  

 

The Number Bond Pattern Machine. 

By looking at the pattern of 

number bonds to 10 you can 

solve much harder maths    

problems—give it a go. 

Can you create your own problem here? Then how 

about having a go  at problems to 10,000      100,000        

or even  1000,000 

Name: 
/      /      

Look carefully! 


